a+2b+ 3c

a-10b

4a + 5b - 3¢

-2a - 8b + 6¢

bZ

2

a? +c?




Day 3 — Converting Mixed & Improper

Video Link: https://vimeo.com/467394996 Improper to Mixed
Video Link: https://vimeo.com/468942374 Mixed to Improper

Aim to complete both fluency tasks.

Aim to complete both fluency tasks and at least one of the
reasoning tasks.

Aim to complete both reasoning tasks and have a go at at
least one of the problem solving tasks.


https://vimeo.com/467394996
https://vimeo.com/468942374

FLUENCY 1 FLUENCY 2
Use the bar model fo help you write the improper Use cubes to help you complete the senfences.
fraction and mixed number that it represents. y \

11
T is the same ¢s —

FLUENCY 1 FLUENCY 3

Complete the stem senfence. Use bar models fo help you convert these mixed
/ \ numbers.

To convert from mixed numbers to improper

fractions, we can e number by the b | 3 2 4
then add the 2 4 5 6 8

\ J/
{ A

19
— is the same as —

\ J
Thereare __equal parts.
equal parts make a whole r | - e
— ' 2 emes  — Use the bar model fo help you complefe fhe senfences. Jey ook cakes,which were cul o g, o
3 = wholesand ___ ninths, 8 of o cake v him o ry
\ ) a cake with him to a party.
,
FLUENCY 3 3
NOM. Asha has a number of chocolate bars in her cupboard. 2_'5 fhe same 05—
Draw your own bar models fo help you change the 18 ) -
improper fractions fo mixed numbers. She ’“"T of the bars tis week. "'

Draw your own bar model fo represent 5 L asan -
improper fraction, 10 How many pieces of cake were there all together?

Express how many
012 1 2 bars | have eaten as
35 910 a mixed number.




REASONING 1
Rate the Advice

To wcornwert improper froctions,
) apoan dirvide the ruumerator by
e the denosrmiirmuator.

A —

Help Jane to improwve her advice.

REASONMNING 2
Odd one out!

Conwvert each fraction to a mixed number to find out
which one is the odd one out.

35 12 30 29
7 3 5 @

Explain your reasoning.

REASONMNING 1

True or False?

To convert from mixed numbers, you
just multiply the whole number by
the numerator and denominator.

Convince me!

REASONING 2

Describe where Jane has made a mistake and
correct it.

S 20
@ @ 4? _— I

REASONING 3

Always, Sometimes or Never?

wWhen yvou convert an
improper fraction to a mixed
A NnumMber there will always be

- L ;
- a whole number.

Convince me!

REASONING 4

Prowve itl

32 - 26
12 8

Use diagrams to help you prowve it.

REASONMNING 3

Adways, Sometimes or Never?

The denominator of a mixed number
will be the same as the denominator
of its equivalent improper fraction.

Back up your choice with mathematical evidence.

REASONING 4
Find the missing numbers...

3'¥=i

Explain how you know.




PROBLEM SOLVING 1

Find the value of the * the . and the ‘

PROBLEM SOLVING 1
Alfie is using the digit cards below to create improper fractions.

-

- Y
| I a
=2 o - 39
4]2hg) = 7o 37 = 5

Which ones should he choose to solve each challenge?

Are there any that have more than one possibility?

N\ [ N\ [ )

- 20
Challenge 1 Challenge 2 Challenge 3 * *
Make the highest Create a whole number Find the improper
whole number when with no remaining fraction closest to 4
converied to a mixed fraction when converted when converted to a
number to a mixed number mixed number T

N\ VRN L




The next slides contains the answers, so please make sure you
are finished before checking the next slides.



Fluency 1

There are 32 equal parts.

7 equal parts make a whaole.
32 = 9 = 3wholes and 5 ninths.

Now.... 10/3=31/3 12/5=272/5 16/9=17/9

Fluency 2
11/4 is the same as 2 3/4.
19/6 is the same as 3 1/4.

22/8 s the same as 2 4/8 or 2 3/4

Fluency 3

Asha ate 2 whole bars and é chunks so 2 2/8 or 2 1/4.

Reasoning 1

21/10="2 1710

Jane's advice i corect but it & not detailed enough. First, you do need to
divide the numerator by the denominator to give you the number of wholes.
The remainder is the fraction that is left over. The fraction will have the same
denominator as the improper fraoction, unless it can be simplified.

Reasoning 2

Modelled DAB Reasening Responses

O - Or= of the fractions 5 the cdd one aut.
A-2902 5 the odd ons cut

B - Al of the others are o whole number when converted to a mixed number.

:w:-'-35+:r-s,u-;auundanﬂ-a.ﬂﬂnmmﬁm

Reasonlng 3
Modelled DAB Reasening Responses

D=t s always frue.

A - When you convert an improper fraction to a mixed numbser, there wil

aciways ba a whole number.

B - Thare has fo be a whele number to create an impreper fraction.

Any improper fraction s mora thaon one whole.

Feasoning 4

Modelled DAB Reasoning Responses

- It b comact

A- 320122608

B- 3212
i rrrrrrr
[TTTTTTTTTTT]
[TTTTTTTTITT]
28/8
[ I I I
I I I
CTT T T T T T 1

Problem Solving 1

Challenge 1: 45/4 =111/ whichis the lorgest whole number possible
Challenge 2:8/4=2 45/9=5 45/15=3

Challenge 3 15/4 =3 3/4 s the closest fo 4,



Fluency 1

To convert from mixed numbers to improper fractions, we can multiply the
whole number by the denominator then add the numerator.

32/5=17/5
There are 3 wholes of 5 equal parts.
There is a remainder of 2 fifths.

3x5+2=17fifths

Fluency 2
2 3/7 is the same as 17/7.
57/10is the same as 57/10.

Fluency 4

There were 79 pieces of cake altogether.

Reasoning 1
Modelled DAB Reasoning Responses
D - False

A -To convert from mixed numbers, you do not just multiply the whaole
number by the numerator and denominator.

B - To convert from mixed numbers, you multiply the whole number by the
denominator to work aut the number of parts in the wholes, then you add the
nurmerator to find the total. For example. ..

2 3/5 =2 wholes x 5 fifths + 3 fifths = 13/5 as you can see in the diagram:

Fluency 3

26/8=22/8
41/6=25/4
53/4=23/4
6 2/9 = 56/9
B4/5=44/5

If yau use Darcey's method and multiply the whole (2] by the denominator
(5) then multiply this by the numerater (3], you get the incorect improper
fraction 30/5.

Reasoning 2
Modelled DAB Reasoning Response
D - Jane has made a mistake.
A -4 5/4is not equal to 20/é

B - Jane has mulfiphied the whole number (4] by the numerataor (5], She
should have multiplied the whole number (4] by the denominator (6) and

added the numerator (5] to get the corect improper fraction 29/4.

Reasoning 3
Modelled DAB Reasoning Response
D - Sometimes

A - The denominator of a mixked number wil sometimeas be the same as the
denominator of its equivalent improper fraction.

B - The mixed number 3 1/3 could be represented as the improper fraction
10/3 but this is also equivalent to 3 2/4 and 20/4 so you could come across
the statement 3 2/4 = 10/3 where the denominators would be different.

Reasoning 4

Modelled DAB Reasoning Response

D -1 can find the missing numbers.

A —The missing nurmerator is 4 and the missing denominatoris 7.

B — The denominator in the first fraction is 7 so the denominator in the
equivalent fraction is 7. To find the numerator for an improper fraction you first
rmultiply the whole number by the denominator. 3 x 7 = 21 and the new
numerator & 25. The difference between 21 and 25 is 4 50 the numerator in
the mixed number must be 4. 3 4/7 = 25/7

Download our ‘DAB’ posters to support reasoning in your classroom:

https:f fwww. deepeningunderstanding. co.uk/product/dab-reasoning-posters/

Problem Solving 1



